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Mathematics Answer Key
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(Question 5]
(Question 1) -6 5
mark
x =30
{Question 2] 36 5
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(Question 3) +5 5
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(Question 4) 3 5 5
mark mark
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(Question 1] 28 cm
mark
. 7 9
(Question 2] y = % + 5 o
mark
(Question 3]
Using ¢, the coordinates of points A, B and C can be expressed as
(t,itz), (—t,itz) and (t,2t?) respectively.
Thus,
AB=t — (—t)=2t
—9s2 1.2 7.2
AC=2t—2t2 =Tt
Since quadrilateral ACDB is a square,
AB=AC
7
2t=—~t2
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(Question 1] 68°
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(Question2] (1)

For triangles ABC and OBG,

angle ABC = angle OBG (common angle) = + + @D

Since an angle inscribed by an arc equivalent to a semicircle is 90°,

angle ACB = 90°+ « -+ @

Since line segment BC is perpendicular to line segment DF as defined in the question,
angle OGB = 90° - - - (@

From @ and ®), angle ACB = angle OGB + + - @

From © and @, since two pairs of angles are equal,

AABC «» AOBG
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[Question 2]

(2) 2V3 cm
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(Question 1) V14 cm

mark

(Question 2] 4 cm3
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(Question 3]

Let the length of line segment DP be x.

Thus, CP=5 — x

Using Pythagoras’ Theorem for triangle APD,

AP =x2422=x244

Using Pythagoras’ Theorem for triangle CPG,
GP?=(5-x)2+32=25—-10x+x%>+9 =x* - 10x + 34
Since quadrilateral AQGP is a rhombus,

AP=GP

AP? = GP?

x*+4=x%—10x + 34

x=3

AG = /5% + 22 + 32 = /38

Draw a perpendicular from point P to side EF, and let the intersection be R.
QR=3-2=1

PQ =12 +22 + 32 =14

Thus, the area of quadrilateral AQGP is

V38 x V14 x % =133
Answer: v133 cm2
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